Magr. Vladimir Kazik

Meno:

OBSAH PLASTA-A

1
) 5cm 6.cm
‘ 6 cm
6 cm <> 5 cm
A) 85 cm? B) 132 cm?
C) 93 cm? D) 191 cm?

2.8m

A) 33 m? B) 75 m?2

C) 64 m? D) 60 m?
5) 8 km II 6 km

3.7 km-km
3 km

A) 72 km? B) 136 km2

C) 155 km? D) 150 km?
7) 3m

4m
5m im
A) 12 m? B) 22 m?
C) 5m2 D) 9 m2

VWypocitaj velkost plasta hranola!

2)
lcm 3cm
’/” lcm 1cm
[ M
3cm
A) 18 cm? B) 13 cm?
C) 7cm? D) 10 cm?
4) 8 km
PUAY
-
5 km
A) 99 km? B) 107 km?
C) 103 km2 D) 96 km?
6) 3m
3 m
3m ‘ﬂ 4m
!
3m
A) 63 m2 B) 24 m?
C) 60 m2 D) 48 m2

35m
A) 54 m? B) 74 m2
C) 77 m2 D) 96 m2
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